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ID ?RE

EGO ESSE

ID POSSE

V?S ESSE

N?S ESSE

T? AM?RE

N?S POSSE

ID VEN?RE

ID HAB?RE

EGO HAB?RE

T? VENDERE

N?S LEGERE

N?S VEN?RE

N?S HAB?RE

T? APER?RE

N?S APER?RE
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ID ESSE

T? ESSE

EGO POSSE

ID LEGERE

ID AM?RE

ID IUV?RE

V?S POSSE

ID DOC?RE

T? LEGERE

EGO DOC?RE

N?S AM?RE

E? IUV?RE

V?S VEN?RE

EGO APER?RE
N?S DOC?RE

EA (THEY N.) ESSE
EA (THEY N.) LEGERE
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EGO ?RE

T? ?RE

T? POSSE

N?S ?RE

V?S ?RE

EGO AM?RE
EGO LEGERE

ID VENDERE
EGO VEN?RE
V?S LEGERE
EGO IUV?RE

T? VEN?RE

V?S IUV?RE

N?S IUV?RE

V?S HAB?RE

EA (THEY N.) ?RE
EA (THEY N.) VEN?RE
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